
  Activity 4.1 – Analyzing Rational Functions 

 

1.  (a)  N(1) = (1)3 – 5(1)2 + 7(1) – 3 = 0 
 

 (b)  g(x) = x2 – 4x + 3 
 

 (c)  N(x) = (x – 1)2(x – 3) 
 

 (d)  
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 (e)  x = 1, –1 
 

 (f)  x = 3 
 

(b) y = 3 
 

 (h)  x = –1 
 

 (i)  x = 1 
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3.   (a)  
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 (c)  
22

2

22

22

)693(

18249

)693(

)96)(2()693)(2(











xx

xx

xx

xxxxx
y  

 (d)  
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4.  Set 0
)4(

)6)(2(

)4(

128
22

2












x

xx

x

xx
y  to get  x = –2, –6.  

 

5.  (a)  C(3) = 0.032 mg/cm3 

 (b)  
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 (c)  002.0)3( C  mg/cm3 per hour  


